FNEERPRESTE—RI—ILKE T—ILE BERE

AF—)L | (BERs) | [B#RS) |[#FRCU]| [=ERCI] | B B | oA | astea | IER
N 34-12 | 71-0 21-7 ”
[EERS] 7-9 11-0 31 | 30K 14 126 1
- 12-34 28-19 | 12-38 5
(RuiRS] | 15 4-3 o e | 1H2& 4 52 3
- 0-71 19-28 7-36 3
IO B 3-4 1-6 0% 38K 0 26 4
_ 7-21 | 38-12 | 36-7 3
[=@ERCJ] 153 62 61 28518 10 81 2
BF—)L |(@#FERs]| [£15Rs] |UNEHRS]| (FERs) | B & | oA | aes | B
= 61-21 | 52-12 | 68-0 n
[(Fm#FERS] o 9-3 18_4212 2100_303 308X 15 181 1
[IFEHRS) 02 688 32_:230 s 55 | 182K 5 66 3
(#Arsl | o 30 ) 59 205188 9 64 2
CT—IL|(E=EJRC]| UEERS] |mamanre)| [RSEE] | B B | BbA | astiea | &R
- 28-5 33-7 66-5 3
[EEJIRC] il 5 1 107 | 30K 15 127 1
5-28 21-31 | 38-10 3
ugsrs] % 3-8 6o | B2 5 64 3
vemamme] 733 | 31-21 55-0 | ,p
(BEmE)IRC) v 6-3 9-0 285188 10 93 2
o 5-66 | 10-38 | 0-55
(Rs&m) [ 3720 7-8 0-9 Of%3BK 0 15 4




